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One who hires the craftsmen - PININGT AR DIWT

Overview

The mawn refers to the people being hired, as 71X (craftsmen), such as carpenters
or tailors who usually get paid by the job (like contractors). This is unlike 0°%31
(workers), who get paid by the day (or hour). N800 discusses the usage of PR
and 2°919 in the nPIwn.
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To the Xin of our Mwn the word 121X applies whether we are discussing a person

hired by the day, or whether we are discussing a contractor -
= 09 Y999Y NIN ¥HWN R D97 DIVN DU VP (3,0 97 23N INAT )PPY93 VAN

However in the following 95 (of 2°2¥1977 DX 70Ww17) the X1 mentions 2%%¥15 (but

not PINR) since 2% indicates only 210 »195w, but not N3P -
- ln’wntn 09YNY 9INRY 11912 0NN INTI 91 v5NaY

For that P19 (of 2°%¥1977 nX "0wh) is discussing 01° *°ow only as the 7iwn states
there, ‘in the time when he told them to be up early in the morning or to remain
late in the evening, etc.’; this can only be referring to o1 *2w but not to ma>ap.

mooin offer an additional proof that %319 refers to a oy 7°5w, only:
- 20151 5¥N3 1959 MINY 9195 D (19 1mps) NPT 9933 29

And also 21 who rules that a >»» can retract even in the middle of the day; this
rule of 27 -
- PIN NYY 5119 VP 799 *PRYNRYA N9MNTI Y)rapa XYY 999K 01 999Wa KipYT

Applies specifically to a 21> 2952 but not to a »ap as is evident in our XD,

therefore 11 mentioned a »¥» (who is a 01’ 90w only), but not a 93p, where the
rule of oV *¥n12192°0X NINY 715° does not apply.

" This proves that 2*%¥19 refers only to @1 >3 and not to N22p.

? The idea of a 172p is that he gets paid by the job; he cannot be told when to come, as opposed to a 2w who needs
to work specified hours.

*If a hired daily worker was hired for ten dollars a day, and after working half a day he decided to quit, the owner
must pay him half-a-days wages (five dollars), even if it costs now more that five dollars to finish the rest of the
day’s work. The owner cannot deduct the extra money he needs to pay the new worker, from the worker who quit.

* A 192p accepted upon himself to complete a job for a hundred dollars, and after doing half the job he decides to
quit. If in order to finish the job the owner must now pay sixty dollars to finish the job the owner can deduct ten
dollars from the 7227 who quit; paying him only forty dollars for half the job. The owner need not suffer the loss,
which the 122p caused him by quitting in the middle.

> See the X3 on 2,1v (and *"w" there R 71"7).
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mooIn asks on his assumption that 731 refers to a °2w only, but not to a 192p:
= 09 HNY YNY 01N I8N HINSN NN 991U (ow) PHYNRYA 19PY NIINT 9NN ON)

And if you will say; but we learnt a Xn>92 later in our X°x%; ‘one who hires a

®y10, and at midday the %310 heard that a relative of his died -
— 15 NN AP ON) 991D NI 929 ON HIN INTAN IN

Or the worker became feverish, the rule is, if he is a 995w, etc. and if he is a J22p,

etc.’ this concludes the Xn>>13, the question is -
- 5119 VI NNN 19293 192 99WA 192 19959 NPIIAT 19
Since the Xn2 is discussing both a =">w and a 3»3ap, why does the Xn»2

mention ¥ (which Moo maintains refers exclusively to a 7°2w), when the Xn»"21 -
= 1119999 ¥NIYNT IIN VPN 1Y "N

Should have mentioned 3218, which indicates both a 7> and a 192p7!

MooIN answers:
=199V 17 193 DN9N NN 93IWN MMINTI NN 99V ON NP 2907 9190 U

And one can say that this is what the X172 meant; ‘if he is a 992w,’ as stated
previously 221977 nR 2w, the rule is the owner must pay his wages -

— 71351 73 NYN Y9ap ON)
However, continues the xn»12, ‘if he is a 9ap’ (which is not what we were
discussing initially), ‘this is his ruling’, etc.

mdon replies to an anticipated difficulty:®
1095 999U INYN 231105 799w RY B0 5801 010 K¥N3Y 23NNIY KYaT DIV

But because the Xn>72 wanted to state ‘at midday’, and midday is applicable
only by a 21 995w, but not by a 173p, therefore he writes 719, where 01’71 °%11 is applicable.

Summary
The word PR refers both to a 92w and a 792p, while the word 519 refers to a 7w

® The xn™2 clearly states; 121 X7 122p O 121 X377 0w OR.

7 moown answer is that the phrase X171 122p oxY, is not referring back to the beginning of the Xn>12 which states 2mw:
9393 nX (for that can refer only to a 7°ow), but rather the Xn>12 is adding an additional case (besides %¥19) that if he
is a 122p (a new case) the ruling is, etc.

¥ Why does the xn»72 mention 719 (which apples exclusively to a 1°w) and we need to explain that X7 122p ox is a
new case, when the Xn*12 could have just as easily stated j2IRi7 DX 712Wi7 and the two cases of 12 X7 7Ow ok and X
15 X377 172p, could have both been referencing the 12X.

? See “Thinking it over’ # 1.

' By a 192p one would need to say, ‘in the middle of the job’, not ‘in the middle of the day’; a 1927 is not subjected
to the time of the day.
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exclusively.

Thinking it over
1. moon explains the reason why it does not say '17IX' in the Xn>72 of NX 2WH

21 Yo7, is since he wanted to write 191 0171 °¥n23, which is appropriate only by a
5919, but not by an 7."" Seemingly however this answer is insufficient, for the
XN*72 could have written X and instead of writing 01°77 °Xn2), the ¥N>72 could
have written 102X y¥»X21 (which can apply to both a 92w and an 1%)?!"

2. Why indeed is it that the word 721X (which means a craftsmen) refers both to a
7°5w and a 172p, while the word %19 (a worker) refers only to a ow?!

' See footnote # 9.
12'See 71m507 "won R # 54-6.
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